
5 o\ utl-io ns A\t 4-A 1(¿v i"-¡¡.J ?rebiontS l¿r^ -l-r frn€æn
Ø,e¡''vt

R¿ì

-1 I ¡ <2

on{4 *315(5

.lama¡rr ail ror.,[á -æ4. 
( ( cæ

fd^ñQë. U >O 0á V lxt
$.þ*

ç

@r

@ il*1,'J"1å;
SfaPh 

o'tt

Cc.tcr$edøf

..Ð ¿ x1 ú, X#3

-æay<æ¿y/l

3 (x-q) 4'x

¿lorr,a,rYl
f arng rZ

-?* xsz
-2.âVå3

dnnni,r

'carge

rj= ån-t

5 L
é.¿rv1 ¿r c,áã rt^ulsf pi7 or

ìWr L\ao' ê¡o'+lc,'tl S"

'il,x-x)'Z '' 56e-x)

ø ¿x-Ð -: 2a -5x

b>< ^L4 = '7tþ '-:x

tlx ^14 :'1a

tix .r ¡{'l

v = -lr- 5 andr -2y -- 2
2

'r/

2- -i
-1{

{,
-Lr4,= -X+2
'?n= 4-L

-dx-t

-3

G,.-,) (-,,'z )

-Ar

^,

.!
,¿'

I
dc{* 2-

g = vrtX +b

,' --lx+bUâ a'
tr5,-{) -l Ê *(ç) +b

¿'

-l = ^$+b

b? 1.6

(2x + 5) - [5x + 4) = 6 -2[x- 3)

zx+lþ 4=6-z*-lL__
-3x+9=-2x

ù,u

¿r< úr -3x+ 9 = -2x

¡.-l x,4e¿

X5t-{

"d $f



:

--.-

9* =x
¿ 1- X.-L,

lr s 9-Y7,| - xL?r* *f = Â

b-)tht +Zx?t = ß-xg* h

b- x*+ xq? zxt = s- xe- ñ

b* v&t (^Z*rx)ç- = g-xg-ft =
l-t

lìì

q(

E :! ."-'.- 
:X a= X

o=4*X ø9+I ç=\l
/voå'¿ à

t- XJOI=X
0=[g+x)(9-x)
0 = SI -xZ+ zx

0 = (Sl -xZ+ zx)xg

fV,nl : (zr)* (v

ry=(x)r @

ß*hz-

0 xsü-zx9*ext

l"Ç>v T. --x

.: s x hLFib a= L* x+r

/ço',e*"J çnF4" d e¿r|' ae!

çt (" h ¡-sb [r--xtr) (u+ x)

l- 5X b--

P'ii-x s ''h-)t

4+ =' h-X

J .-,^

9L = J.n-*t

ç z.'tx)f (u

*-i-) = (sl* \q

a
L v

o= L+)(Q,

Äuv1Åøeo PzooIeU

I -*X ,.--ù vu"l'

1 -r øÇ* {L)yr
zw\,¡iq'htuþ

9- =N
o= X

1

\?tulZ\
ul t-

(

(
l-u

æ
(*)

z',

g
Ï6=

I
x

't1

L

,Wøcztz? A a= 9trX1I
e-= \*+ xn)

@

l

",2î3-?Eì:ir G,r zYg+çÐ O



afN
S¡,øaì ç, 

.anYú . õ)oL' L\ Þ:
(sß' )wav ]

tL

' sl'/, g u! ?n\ï^ çi bl,t-'t' + 4*r'o) 
ooob /(9

I wo çt. ra¡1d'41vruvt

.,.W = .tL\'',tm|

gÌz'6117'ot LL'Ç gg?'I ) ooa f977' s
,Øn

h

?)z=
1r\
oÊ.= 

11

gg1r r9'f,
ml = {'9 'f,

(tlt)l'e ç

x[,
0rt
IþE'þ
ztLo'9
sh9A9'ß
þvÆlJb'1r

o
Yl îq --àf

.ar$\
6ù
\-"-z'

-^
x

€ 0
bl I
80r z

$ho) t#82. þ

AkL* s

4 r\t,t, t-1--¡ir¡ I'J d4d X-a

-,(

ç-nz,)n*ghl 
5 etry

ZLI+ uþ: = Y*
9p au¡rÈg. Ulqm (.h{h. Srl =u+ f,7,1 t '#on'hr"t'ghl@xk,

J.,ç

z, {' à nt¡,t, +ruIâJuJ e Ç ?û"ï+

tl ) +oe1

t)- -x
*Q-t - ; Yb1,

,lt7+, = 
*+

,-$r)t = u+ 
!a'*ä,., 

Tesitrror<ú 
(u

ç
¡yo;-F" ae¡a+Ul

""" f?l 'or ' q,

Q.,=\

b -'lrL
5L * h+ h4*'
A- =Þ*(?-)t.,

- yrtt¡tu!p
üÞrt+

e4- --['gt Yß

gl- tÈrq* Yg\

+ta- L Iq .4d$1tnt"' q-- 
s r- = Àør xþ

k 
ç,urÐ+¿¡t dl'¡+rn w <-¿ or*- E M - *ø



u = (x'5 )t- \ vavla*.e ¡t ør*h X -5 in any
SL ^, tÍ;e) ,z7h'S¡5 o df4fh 5 unitt
þ the. rtghtyer+qr is (t,-t) ba¿a'to¿

^ -l +rã ++æ. cnJ oF

ãr*,¡ çhiÎç= ìf doa¡Ú

)

T ã f, k+zYx-u)

Thfá i/..tt.x ìr û'

+h< r\ârl ooefl¿ient
pu.raho\a \ç 4 W

Ir
rnÑ¡orqrla V,<eruçe.

G v
¡,IrtJ

à('[v:]\.-o="
X+z =o -.i+
xrr-z

b)

24b
4q Y

I

{
oL

$3<-(

y +2D

= #+fu +2o

oåa Qf =ra -íoåäd#

= ÃA+T¡¿+ lle +2Ò

t
2

,f+4* -lz

+{ f r4x* I -lL

\= 4.82 +Ax -71v 
d¡'r¿¡'dc- vrz

7
*4 = (x+z) '12

e ç**Ñ -Í'

,1
= z(x+a\ '7L

So th¿ ç¿rW ló

Y 
+rb s

2

$ +16
-lÉ

+2ö
-lb

x+11
.a-) +4

io thc Va¡tQð

4 ,1) U
JC

15 C 2 +z)


